Mu Alpha Theta National Convention:  Hawaii, 2005

Solutions – Ciphering Test – Mu Division
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3. 1.  
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 is the last probability we haven’t found, so its value must be 1 minus the sum of the other probabilities; therefore 
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4. 60.  In order to have exactly 12 positive integral factors, an integer must either: be a prime to the 11th power; be the product of a prime to the 5th power and another prime to the 1st power; be the product of a prime to the 3rd power and another distinct prime to the 2nd power; or the product of a prime to the 2nd power and two other distinct primes each to the 1st.  The smallest of the 1st type is 
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7. 432.  
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8. 9:15 pm.  The initial temperature difference is 40°F.  5 minutes later the difference is 20°F, so the half life of the temperature difference is 5 minutes.  The final difference of 5°F is 1/8th of the original difference – 3 half lives have passed.  
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minutes, so the current time is 9:15 pm.
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10. 14.  
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.  6 + 0 + 10 + (-2) = 14.
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 is a summation form of 
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, but in the 2nd quadrant, 
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